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Gyd;nkhopj; Nju;T 
 

Nfl;lYk; tpsq;fpf;nfhs;SjYk; 
 

m - gFjp 

xypapWntl;by; xypf;fg;gLk; ciug;gFjpiaf; Nfl;L> tpsq;fpf; nfhz;L> 
fPo;f;fhZk; $w;Wfs; rupahapd;  vdTk;> gpioahapd; vdTk; fl;lj;jpDs; 
milahskpLf.                                                                                                       

 

1. jkpo;nkhop ,yf;fpa> ,yf;fz tsk; epiwe;jJ.   
 
 

 

2. jkpo;nkhopapd; Njhw;wf; fhyg;gFjp tiuaWj;Jf; $wf;$baJ. 

 

3. fp.K. 300 – fp.gp. 300 tiuahd fhyg;gFjp rq;fkUtpa fhyk;  
 

  MFk;.  

 
 

  

4. rq;f fhy ,yf;fpaq;fs; nrk;ikahd nkhopeilAk; ,yf;fz  

  mikg;Gk; nfhz;lit. 
 
 

   

5. jkpou; tho;T rq;f fhyj;jpYk; mjw;F Kd;Dk; cau;e;j  

  epiyapy; ,Ue;jJ. 
 
 

 

 

6. jkpou; epyq;fs; jkpou; my;yhNjhuhy; Msg;gltpy;iy. 
         
 

                   
 

7. gpw nkhopahsu;fspd; Nkyhz;ikahy; jkpo;nkhop tuyhW  

  jpupGfSf;F cl;gLj;jg;gl;Ls;sJ. 
 
 

 

8. fPob mfoha;Tfspd; rhd;Wfs; jkpoupd; njhd;ikia  

  vLj;Jf;fhl;Lfpd;wd  

ngau;: 

 

; 

ehs;: rdpf;fpoik

 

; 

(8 x  ½  = 4 Gs;spfs;) 



 

 

M - gFjp 
 

 xypapWntl;by; xypf;fg;gLk; Neu;fhzw;gFjpiaf; Nfl;L> tpsq;fpf; 
nfhz;L fPo;f;fhZk; tpdhf;fSf;F tpil vOJf.   

 

1. ,iza thndhypapy; eilngw;w epfo;r;rpapd; ngau; vd;d? 

     ___________________________________________________________ 

2. nrd;w thu epfo;r;rpapy; tpsf;fg;gl;l Áypd; ngau; vd;d? 

     ___________________________________________________________ 

3. ,e;epfo;r;rp thuk;NjhWk; ve;j ehspy; eilngWk;? 
 
 

     ___________________________________________________________ 

4. FWe;njhif vdg; ngauplg;gl;ljd; fhuzk; vd;d? 
 

 
 

     ___________________________________________________________ 

5. FWe;njhif vj;jid ghly;fspd; njhFg;ghf cs;sJ? 
 

 

     ___________________________________________________________ 

6. mLj;jthuk; FWe;njhifapYs;s ve;j tplak;gw;wpg; ghu;f;fg;glTs;sJ? 

 
     ___________________________________________________________ 

                                                 

 

 

 

 

 

 

 

 

(6 x  1  = 6 Gs;spfs;) 


